MBx40 - Tks
M10x30 - 10ks @ MsB= Tk P10 - Tks

M10x50 - 2ks / PP10- 12ks
M12x70 - 2ks (A — () PP12-2ks (A1)
M12x90 - 2ks () M10 - 8ks PP12 - 4ks (C)

M12x19 - 4ks (C) MI12 - 2ks (A, 1)

DETAIL f}

AIC 325123

M12x70 - 2ks

HONDA JAZZ A
Kod: HOS24(A,1,C) 24. 8. 2012




